


—> {L\)‘l '3 14 -~ \ W '—’z

))))/,) sy

D
() Tguslle, A s = brded => ashing o gt by
2,54 ?mi At {(l% dser Mﬁ&ﬂeﬂ%*"ﬁ @

& S &> \]ZNJ 3 ﬁzM) st lag—od;ago
—-:Eafa.r"i_eular) ‘f" Nz‘) = i;l S+ ‘ﬂﬁ‘_al ?fo
Aor N=2, I T,22 ad 12T, s, ’a;-a\zio

\).2 V\' g.,*_ aﬁf‘ a\ 2 fo

—for ?\izj) 3 hd.-zi and h{i>n6\_‘>/ a
= WQWAW&&W {Q,\d\s s+ t@nd_&\;io
k?&' " {and§ N Qw\&ml @T)ﬁ Da o cwv@ﬁ'al’g&ﬁ mvﬂ.d:a—(x a‘ﬂd—wc\\ ‘(BQ
#H2.55 ?mf\ Carg =0 {L“S«:{o% —p
Cn},Q(KL(\ Eco»««\g 253y & IL“|:ILl“<i

Case -1<b<o h_j[}:g Q:(’) @9‘ E'\__@ :‘HV\%I;% <q %Exwfle 253




